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1. ¶ykWih lcls vf/kd bLrseky fd;k tkus okyk 

ehfM;k gS % 

 
1. Floppies are most commonly used media 

with : 

(A) lqij dEI;wVj ds lkFk  (A) Super computers 

(B) esuÝse dEI;wVj ds lkFk  (B)  Mainframe computers 

(C) feuh dEI;wVj ds lkFk  (C)  Mini computers 

(D) ekbØks dEI;wVj ds lkFk  (D)  Micro computers 

2. ih- lh- ¼ilZuy dEI;wVj½ gSa % 
 

2. PCs (Personal Computers) are : 

(A) esuÝse dEI;wVj  (A) Mainframe Computers 

(B) feuh dEI;wVj  (B)  Mini Computers 

(C) ekbØks dEI;wVj  (C)  Micro Computers 

(D) lqij dEI;wVj  (D)  Super Computers 

3. lh- Mh- ,l-@vkbZ- ,l- vkbZ- ,l- cukus okyh 

Hkk”kk esa ,d VSx ds :i esa vkxs D;k gksrk gS \ 

 
3. In CDS/ISIS formating language, what 

preceeds as a tag ? 

(A) +  (A) + 

(B)      (B)     

(C)  /  (C)  / 

(D)  “ ”  (D)  “ ” 
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4. vkWfIVdy Qkbcj dk iz;ksx fd;k tkrk gS % 
 

4. Optical fibre is used in : 

(A) dEI;wVjhd`r dSVykWÇxx eas  (A) Computerised cataloguing 

(B) Lopkfyr oxhZd`r eas  (B)  Automatic classified 

(C) nwjlapkj eas  (C)  Telecommunication 

(D) lUnHkZ vkSj lwpuk lsokvksa esa  (D)  Reference and information services 

5. eq[; eseksjh nks izdkj dh gksrh gaS % 
 

5. Two kinds of main memory are : 

(A) izkFkfed ,oa f}rh;d  (A) Primary and Secondary 

(B) jkse vkSj jSe  (B)  ROM and RAM 

(C) dsoy jSe  (C)  RAM only 

(D) dsoy jkse  (D)  ROM only 

6. ikLdy tksM+us dh e’khu dk vkfo”dkj fdl 

o”kZ fd;k x;k Fkk \ 

 
6. PASCAL adding machine was invented 

in the year : 

(A) 1671  (A) 1671 

(B)  1822  (B)  1822 

(C)  1942  (C)  1942 

(D)  1932  (D)  1932 

7. ekbØks dEI;wVj dks pqfu, % 
 

7. Select the micro computer : 

(A) lh- Mh- ,l-&205  (A) CDS-205 

(B) vuqjkx  (B)  ANURAG 

(C) lh- Mh- lh-&6600  (C)  CDC-6600 

(D) vkbZ- ch- ,e- ih ,l@2  (D)  IBM PS/2 
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8. vcsdl dk fodkl gqvk Fkk % 
 

8. Abacus was developed in : 

(A) 5050 bZ- iw- esa  (A) 5050 B. C. 

(B) 5000 bZ- iw- esa  (B)  5000 B. C. 

(C) 3000 bZ- iw- esa  (C)  3000 B. C. 

(D) 4000 bZ- iw- esa  (D)  4000 B. C. 

9. dEI;wVj buls feydj curk gS % 
 

9. The computer consists of : 

(A) lh- ih- ;w-  (A) CPU 

(B) eseksjh  (B)  Memory 

(C) vkbZ-@vks- fMokbl  (C)  I/O device 

(D) mi;qZDr lHkh  (D)  All of the above 

10. mi;ksxdrkZ 
-------------------------- 

ds ek/;e ls MkVk ntZ 

dj ldrs gSaA 

 
10. The user can enter the data  

through : 

(A) ekml  (A) Mouse 

(B) dh&cksMZ  (B)  Keyboard 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) dsoy (B)  (D)  Only (B) 
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11. dh&cksMZ esa ‘kkfey gS % 
 

11. The keyboard consists of : 

(A) lh- ;w-  (A) CU 

(B) ekml  (B)  Mouse 

(C) QaD’ku dqath  (C)  Function key 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

12. fo.Mks ds fy, ,fyl fdlds }kjk rS;kj fd;k 

x;k \ 

 
12. Alice for window is devised by : 

(A) ,- ,y- ,-  (A) ALA 

(B) vkbZ- ,y- ,-  (B)  ILA 

(C) MslhMkWd  (C)  DESIDOC 

(D) lkW¶V fyad ,f’k;k izk- fy-  (D)  Soft Link Asia Pvt. Ltd. 

13. lsds.Mjh LVksjst dk nwljk uke gS % 
 

13. Another name of secondary storage is : 

(A) izkFkfed Hk.Mkj.k  (A) Primary storage 

(B) ckgjh Hk.Mkj.k  (B)  External storage 

(C) vfrfjDr Hk.Mkj.k  (C)  Additional storage 

(D) eq[; Hk.Mkj.k  (D)  Main Storage 
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14. dEI;wVj ‘kCnkoyh esa ^lh* dk vFkZ gS % 
 

14. In computer terminology „C‟ refers  

to : 

(A) lh- ih- ;w-  (A) CPU 

(B) dalksy  (B)  Console 

(C) eseksjh  (C)  Memory 

(D) izksxzkfeax Hkk”kk  (D)  Programming Language 

15. dEI;wVj dk tud dkSu gS \ 
 

15. Who is the father of Computer ? 

(A) Cyst ikLdy  (A) Blaise Pascal 

(B) pkYlZ cScst  (B)  Charles Babbage 

(C) tkWu usfi;j  (C)  John Napier 

(D) gjeu gksyfjFk  (D)  Herman Hollerith 

16. dEI;wVj dh eq[; fo’ks”krk,¡ gSa % 
 

16. The main characteristics of computer  

are : 

(A) xfr  (A) Speed 

(B) ‘kq)rk  (B)  Accuracy 

(C) fo’oluh;rk  (C)  Reliability 

(D) mi;qZDr lHkh  (D)  All of the above 
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17. ih- lh- ds fy, yksdfiz; vkWijsfVax flLVe gS % 
 

17. Popular operating system for PC‟s is : 

(A) lh- ih-@,e-  (A) CP/M 

(B) ;wfuDl  (B)  UNIX 

(C) ,e- ,l-&MkWl  (C)  MS-DOS 

(D) mi;qZDr lHkh  (D)  All of the above 

18. ge Qkbysa gVkrs gSa] rks Qkbysa pyh tkrh gSa % 
 

18. When we delete files, the files go to : 

(A) fjlk;dy fcu esa  (A) Recycle bin 

(B) ekbZ czhQdsl esa  (B)  My Briefcase 

(C) ekbZ dEI;wVj esa  (C)  My Computer 

(D) b.VjusV dEI;wVj esa  (D)  Internet Computer 

19. fo.Mks ,u- Vh- vkrk gS % 
 

19. Window NT comes in : 

(A) ik¡posa laLdj.k esa  (A) Fifth Version 

(B) rhljs laLdj.k esa  (B)  Third Version 

(C) ,dy laLdj.k esa  (C)  Single Version 

(D) nwljs laLdj.k esa  (D)  Second Version 
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20. mi;ksxdrkZ uke vkSj ikloMZ ds la;kstu dks 

dgk tkrk gS % 

 
20. The combination of user name and 

password is called : 

(A) ykWxvkmV  (A) Logout 

(B) ykWfxu  (B)  Login 

(C) ykWxvkWQ  (C)  Logoff 

(D) ‘kVvkWQ  (D)  Shutoff 

21. fuEufyf[kr esa ls dkSu&lh dEI;wVj izksxzkfeax 

Hkk”kk ugha gS \ 

 
21. Which of the following is not a computer 

programming language ? 

(A) QksVªkZu  (A) FORTRAN 

(B) csfld  (B)  BASIC 

(C) ASCII  (C)  ASCII 

(D) dkscksy  (D)  COBOL 

22. b.VjusV ,d lkFk gS % 
 

22. INTERNET is simultaneously a : 

(A) usVodZ  (A) Network 

(B) lapkj ek/;e  (B)  Communication Medium 

(C) ysu&nsu eap  (C)  Transaction Platform 

(D) mi;qZDr lHkh  (D)  All of the above 
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23. og Hkk”kk tks ,p- ,y- ,y- dks e’khuh Hkk”kk esa 

ifjofrZr djrh gS % 

 
23. The language which converts HLL into 

machine language : 

(A) daikbyj  (A) Compiler 

(B) nqHkkf”k;k  (B)  Interpreter 

(C) vlsacyj  (C)  Assembler 

(D) mi;qZDr lHkh  (D)  All of the above 

24. ok;jl dh vo/kkj.kk is’k dh x;h Fkh % 
 

24. The concept of virus was introduced  

in : 

(A) 1949 esa  (A) 1949 

(B)  1946 esa  (B)  1946 

(C)  1947 esa  (C)  1947 

(D)  1942 esa  (D)  1942 

25. czsu ok;jl 
--------------------------- 

ds :i esa Hkh tkuk 

tkrk gSA 

 
25. Brain virus is also known as : 

(A) ikfdLrkuh  (A) Pakistani 

(B) luhosy Lyx  (B)  Sunnyvale Slug 

(C) ysg ok;jl  (C)  Lehigh Virus 

(D) ‘kqØokj 13ok¡  (D)  Friday 13th 



 

A190204T ( 11 )  Set-D 

26. dEI;wVj ds vUrxZr lcls vf/kd iz;ksx dh 

tkus okyh Hkk”kk dkSu&lh gS \ 

 
26. What is the most popular language of the 

computer ? 

(A) e’khuh Hkk”kk  (A) Machine language 

(B) dksMkarfjr Hkk”kk  (B)  Assembly language 

(C) mPp Lrjh; Hkk”kk  (C)  High level language 

(D) fuEu Lrjh; Hkk”kk  (D)  Low level language 

27. ckj&dksM yscy fdlesa mi;ksx gksrk gS % 
 

27. Bar-code labels are used in : 

(A) vf/kxzg.k iz.kkyh  (A) Acquisition system 

(B) ifjpkyu iz.kkyh  (B)  Circulation system 

(C) lwphdj.k iz.kkyh  (C)  Cataloguing system 

(D) lkef;dh fu;U=.k iz.kkyh  (D)  Serial control system 

28. dEI;wVj izkS|ksfxdh esa dEI;wVj dk vFkZ gS % 
 

28. In computer technology a computer 

means : 

(A) ,d O;fDr tks lkslZ izksxzke ladfyr 

djrk gS 

 (A) A person who compiles source 

program 

(B) izksxzke ds :i esa dqN Hkh  (B)  The same thing as a program 

(C) dqath iap vkWijsVj  (C)  Key punch operator 

(D) vkWCtsDV izksxzke esa ,d izksxzke  (D)  A program into object program 
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29. Vªkalfe’ku ykbuksa dks ;g Hkh dgk tkrk gS % 
 

29. Transmission lines is also called : 

(A) jftLVj] pSuy ;k Vªad  (A) Register, channels or trunks 

(B) lfdZV] pSuy ;k Vªad  (B)  Circuits, channels or trunks 

(C) eseksjh] pSuy ;k Vªad  (C)  Memory, channels or trunks 

(D) lfdZV] pSuy ;k jftLVj  (D)  Circuits, channels or registers 

30. ^lksy* fdlds }kjk izLrkfor fd;k x;k gS \ 
 

30. SOUL is introduced by : 

(A) lh- ,e- lh- fyfeVsM  (A) CMC Ltd. 

(B) buf¶ycusV  (B)  INFLIBNET 

(C) fudusV  (C)  NICNET 

(D) vks- lh- ,y- lh-  (D)  OCLC 

31. b.VjusV ,DlIyksjj ,d 
------------------------------- 

gSA 
 

31. Internet Explorer is a : 

(A) loZj lkW¶Vos;j  (A) Server software 

(B) DykbaV lkW¶Vos;j  (B)  Client software 

(C) vuqoknd lkW¶Vos;j  (C)  Translator software 

(D) mi;qZDr lHkh  (D)  All of the above 

32. cx dk D;k rkRi;Z gS \ 
 

32. What is a bug ? 

(A) dEI;wVj ok;jl  (A) Computer virus 

(B) dEI;wVj foU;kl esa =qfV  (B)  Error in computer configuration 

(C) izksxzkfeax esa =qfV  (C)  Error in a programming 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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33. isafV;e 4 
-----------------------------------

 dkWiksZjs’ku }kjk 

fodflr fd;k x;k gSA 

 
33. Pentium-4 is introduced by ............... 

corporation. 

(A) dEI;wVj  (A) Computer 

(B) ,Mokal dEI;wVj  (B)  Advanced computer 

(C) bUVsy  (C)  Intel 

(D) lh- ,e- lh- fyfeVsM  (D)  CMC Ltd. 

34. vkj- ,Q- vkbZ- Mh- ekWM~;wy dk mi;ksx D;k gS \ 
 

34. What is the use of RFID Module ? 

(A) oLrq dh igpku  (A) Object identification 

(B) 3th dusfDVfoVh iznku djus gsrq  (B)  To provide 3G connectivity 

(C) rkieku ekius ds fy,  (C)  To measure temperature 

(D) okbZ&QkbZ dh {kerk ekius ds fy,  (D)  To measure Wi-Fi strength 

35. izFke O;kolf;d ok;jl Fkk % 
 

35. The first commercial virus was : 

(A) gSIih cFkZMs 30ok¡  (A) Happy Birthday 30th 

(B) jke MªksIl  (B)  Ram drops 

(C) czsu  (C)  Brain 

(D) ;kadh MwMy  (D)  Yankee Doodle 

36. d`f=e izKk dh /kkj.kk fdlds lkFk lEcfU/kr 

gS \ 

 
36. The concept of artificial intelligence is 

related with : 

(A) izFke ih<+h dEI;wVj  (A) First generation computers 

(B) f}rh; ih<+h dEI;wVj  (B)  Second generation computers 

(C) prqFkZ ih<+h dEI;wVj  (C)  Fourth generation computers 

(D) iape ih<+h dEI;wVj  (D)  Fifth generation computers 
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37. fycfll lkW¶Vos;j fdlds lapkyu ds fy,  

gS \ 

 
37. LIBSYS is a software for automation of : 

(A) iqLrdky; fØ;kdykiksa  (A) Library activities 

(B) vkS|ksfxd fØ;kdykiksa  (B)  Industrial activities 

(C) gkWfLiVy ls lEcfU/kr fØ;kdykiksa  (C)  Hospital activities 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

38. vkWijsfVax flLVe gS % 
 

38. Operating system is a/an : 

(A) ,fIyds’ku lkW¶Vos;j  (A) Application software 

(B) flLVe lkW¶Vos;j  (B)  System software 

(C) gkMZos;j  (C)  Hardware 

(D) Hkk”kk  (D)  Language 

39. ,e- ,- ,u- esa eq[;r% fdrus dscy gksrs gSa \ 
 

39. A MAN is : 

(A) pkj dscy  (A) Four cables 

(B) rhu dscy  (B)  Three cables 

(C) ,d ;k nks dscy  (C)  One or two cables 

(D) nl dscy  (D)  Ten cables 

40. ykbuDl fdlds }kjk fodflr fd;k x;k \ 
 

40. LINUX was developed by : 

(A) fyuql VksjokYM~l  (A) Linus Torvalds 

(B) fyuql xzksfy;j  (B)  Linus Grolier 

(C) fyuql xksfLayx  (C)  Linus Gosling 

(D) ihVj MsLysek  (D)  Peter Deslema 
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41. ,Q- ,- D;w- dk D;k vFkZ gS \ 
 

41. FAQ stands for : 

(A) vDlj iwNs tkus okys iz’u  (A) Frequently Asked Questions 

(B) vDlj mŸkj fn;s tkus okys iz’u  (B)  Frequently Answered Questions 

(C) vDlj tksM+k x;k iz’u  (C)  Frequently Added Questions 

(D) vDlj lykg nsus okys iz’u  (D)  Frequently Advised Questions 

42. fuEufyf[kr esa ls dkSu&lk ekbØksCykWfxax dk 

mnkgj.k gS \ 

 
42. Which of the following is an example of 

microblogging ? 

(A) oMZ izsl  (A) Word press 

(B) CykWx LikWV  (B)  Blog spot 

(C) ykbo tuZy  (C)  Live Journal 

(D) fV~foVj  (D)  Twitter 

43. ts- ih- bZ- th- dk vFkZ gS % 
 

43. JPEG stands for : 

(A) la;qDr QksVksxzkfQd fo’ks”kK lewg  (A) Joint Photographic Expert Group 

(B) la;qDr QksVkslewg O;k[;k lewg  (B)  Joint Photogroup Explaining Group 

(C) la;qDr QksVksLVsV foLrkj lewg  (C)  Joint Photostate Extending Group 

(D) la;qDr fp= fo’ks”kK lewg  (D)  Joint Picture Expert Group 

44. fuEufyf[kr esa ls dkSu&lk izrhd ¶ykspkVZ dk 

mi;ksx tksM+us] ?kVkus] xq.kk djus vkSj 

foHkkftr djus dh lHkh vadxf.krh; izfØ;kvksa 

dks bafxr djus ds fy, fd;k tkrk gS \ 

 
44. Which of the following symbols in a 

flowchart are used to indicate all 

arithmetic processes of adding, 

subtracting, multiplying and dividing ? 

(A) buiqV@vkmViqV  (A) Input/Output 

(B) VfeZuy  (B)  Terminal 

(C) izkslsflax  (C)  Processing 

(D) fu.kZ;  (D)  Decision 
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45. ekml iz;ksx fd;k tk ldrk gS % 
 

45. Mouse can be used with : 

(A) lh- Mh- ,l-@vkbZ- ,l- vkbZ- ,l- ds 

lkFk 

 (A) CDS/ISIS 

(B) lksy ds lkFk  (B)  SOUL 

(C) lh- Mh- ,l-@vkbZ- ,l- vkbZ- ,l- vkSj 

lksy nksuksa ds lkFk 

 (C)  Both CDS/ISIS and SOUL  

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

46. dEI;wVj ds HkkSfrd la?kVdksa dks D;k dgrs  

gSa \ 

 
46. Physical components of the computers 

are called as : 

(A) lkW¶Vos;j  (A) Software 

(B) gkMZos;j  (B)  Hardware 

(C) áweuos;j  (C)  Humanware 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

47. eksMse D;k gS \ 
 

47. What is Modem ? 

(A) fMftVy MkVk dk fp=  (A) Images of digital data 

(B) xzkfQd MkVk  (B)  Graphic data 

(C) /ofu ladsrksa ls fMftVy MkVk  (C)  Sound signals to digital data 

(D) fMftVy lwpuk dks ,ukykWx lwpuk esa 

cnyus dh fof/k 

 (D)  A device to convert digital 

information to analog information 
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48. ;wfuDl fdlds }kjk fodflr fd;k x;k gS \ 
 

48. UNIX is developed by : 

(A) Cyst ikLdy  (A) Blaise Pascal 

(B) dsu FkkWEilu ,.M Msful fjph  (B)  Ken Thompson and Dennis Ritchie 

(C) ,- Vh- ,.M Vh-  (C)  AT & T 

(D) LVhQu vkj- ckWuZ  (D)  Stephen R. Bourne 

49. ,u- vkbZ- lh- dk eq[;ky; dgk¡ fLFkr gS \ 
 

49. The headquarters of NIC is situated at : 

(A) cSaxykSj  (A) Bangalore 

(B) ubZ fnYyh  (B)  New Delhi 

(C) gSnjkckn  (C)  Hyderabad 

(D) dksydkrk  (D)  Kolkata 

50. b.VjusV gS % 
 

50. Internet is a : 

(A) ,e- ,- ,u-  (A) MAN 

(B) ljdkjh usVodZ  (B)  Government Network 

(C) dsoy okf.kfT;d usVodZ  (C)  Commercial Network Only 

(D) usVodZ dk oS’ohdj.k  (D)  Globalisation of Network 

51. ;w- vkj- ,y- dk vFkZ gS % 
 

51. URL stands for : 

(A) ;wfuQkWeZ lalk/ku yksdsVj  (A) Uniform Resource Locator 

(B) lkoZHkkSfed lalk/ku yksdsVj  (B)  Universal Resource Locator 

(C) ;wfuQkWeZ fjdkWMZ yksdsVj  (C)  Uniform Record Locator 

(D) lkoZHkkSfed fjdkWMZ yksdsVj  (D)  Universal Record Locator 
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52. fuEufyf[kr esa ls dkSu&lk osc 2-0 Vwy ugha  

gS \ 

 
52. Which of the following is not a Web 2.0 

tool ? 

(A) CykWx  (A) Blog 

(B) Qslcqd  (B)  Facebook 

(C) buQksusV 2-0&;w- th- lh-  (C)  Infonet 2.0-UGC 

(D) vkj- ,l- ,l- QhM  (D)  RSS feed 

53. dEI;wVj dh eseksjh ds ekiu gsrq fdl bdkbZ 

dk iz;ksx fd;k tkrk gS \ 

 
53. Computer memory is measured in : 

(A) ckbV  (A) Byte 

(B) fdyksckbV  (B)  Kilobyte 

(C) esxkckbV  (C)  Megabyte 

(D) mi;qZDr lHkh  (D)  All of the above 

54. ¶ykspkVZ tks izksxzke ds eq[; [k.Mksa dks 

js[kkafdr djrk gS] dgykrk gS % 

 
54. A flowchart that outlines the main 

segments of program is called as : 

(A) ekbØks ¶ykspkVZ  (A) Micro Flowchart 

(B) eSØks ¶ykspkVZ  (B)  Macro Flowchart 

(C) ¶ykspkVZ  (C)  Flowchart 

(D) fu.kZ;  (D)  Decision 
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55. dEI;wVj dk ân; fdls ekuk tk ldrk gS \ 
 

55. The heart of computer is : 

(A) buiqV ;wfuV  (A) Input unit 

(B) vkmViqV ;wfuV  (B)  Output unit 

(C) eseksjh  (C)  Memory 

(D) lh- ih- ;w-  (D)  CPU 

56. vcsdl D;k gS \ 
 

56. What is Abacus ? 

(A) izFke ih<+h dEI;wVj  (A) First Generation Computer 

(B) f}rh; ih<+h dEI;wVj  (B)  Second Generation Computer 

(C) lk/kkj.k x.kuk ds fy, iz;qDr izkphu 

midj.k 

 (C)  An ancient device for simple 

calculations 

(D) gkMZos;j  (D)  Hardware 

57. lcls vf/kd iz;ksx gksus okyh fuos’k ;qfDr 

dkSu&lh gS \ 

 
57. The most common input device is : 

(A) iap dkMZ  (A) Punched card 

(B) dh&cksMZ  (B)  Keyboard 

(C) LdSuj  (C)  Scanner 

(D) /ofu fuos’k  (D)  Voice input 

58. ,e- ,l-&MkWl gS % 
 

58. MS-DOS is a : 

(A) cgqmi;ksxdrkZ vkWijsfVax flLVe  (A) Multiuser operating system 

(B) Vkbe ‘ks;fjax vkWijsfVax flLVe  (B)  Time sharing operating system 

(C) ,dy mi;ksxdrkZ vkWijsfVax flLVe  (C)  Single user operating system 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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59. ikloMZ lqj{kk esa ‘kkfey gS % 
 

59. Password security involves : 

(A) igpku  (A) Identification 

(B) izek.khdj.k  (B)  Authentication 

(C) izkf/kdj.k  (C)  Authorisation 

(D) mi;qZDr lHkh  (D)  All of the above 

60. Vªh VkWiksykWth la’kksf/kr :i gS % 
 

60. The tree topology is a modified form of : 

(A) b.VjusV VkWiksykWth dk  (A) Internet topology 

(B) cl VkWiksykWth dk  (B)  Bus topology 

(C) fjax VkWiksykWth dk  (C)  Ring topology 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

61. [kkst batu fuEufyf[kr ls dkSu&lk gS \ 
 

61. Which of the following is a search engine ? 

(A) xwxy  (A) Google 

(B) ,DlkbV  (B)  Excite 

(C) bUQkslhd  (C)  Infoseek 

(D) mi;qZDr lHkh  (D)  All of the above 

62. iqLrdky;ksa ds fy, lat; lkW¶Vos;j fdlds 

}kjk rS;kj fd;k x;k gS \ 

 
62. Sanjay software for libraries is devised  

by : 

(A) bUlMkWd  (A) INSDOC 

(B) uklMkWd  (B)  NASSDOC 

(C) ;wusLdks  (C)  UNESCO 

(D) MslhMkWd  (D)  DESIDOC 
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63. fuEufyf[kr esa ls fo”ke dks igpkfu, % 
 

63. Identify the odd one from the following : 

(A) dksgk  (A) KOHA 

(B) oh- Vh- ,y- ,l-  (B)  VTLS 

(C) fLye $$  (C)  SLIM ++ 

(D) lksy  (D)  SOUL 

64. izksxzkfeax Hkk”kkvksa esa izfrfuf/kRo fd;k tkus 

okyk ,d ,Yxksfjn~e gS % 

 
64. An algorithm represented in the form of 

programming language is : 

(A) ¶ykspkVZ  (A) Flowchart 

(B) Nn~e dksM  (B)  Pseudo code 

(C) izksxzke  (C)  Program 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

65. f}rh; ih<+h ds dEI;wVj esa fdldk iz;ksx fd;k 

tkrk gS \ 

 
65. The second generation of computer was 

characterised by the use of : 

(A) VªkaftLVlZ  (A) Transistors 

(B) fpIl  (B)  Chips 

(C) oSD;we V~;wCl  (C)  Vacuum tubes 

(D) vkbZ- lh-  (D)  IC 

66. vkj- ,Q- vkbZ- Mh- ekWM~;wy dh vf/kdre i<+us 

dh lhek D;k gS \ 

 
66. What is the maximum read range of the 

RFID module ? 

(A) 2 lseh-  (A) 2 cm 

(B) 1 lseh-  (B)  1 cm 

(C) 10 lseh-  (C)  10 cm 

(D) 5 lseh-  (D)  5 cm 
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67. ¶ykspkVZ vkSj ,Yxksfjn~e dk mi;ksx fd;k 

tkrk gS % 

 
67. Flow-charts and Algorithms are used for : 

(A) csgrj izksxzkfeax esa  (A) Better Programming 

(B) vklku ijh{k.k vkSj fMcfxax esa  (B)  Easy testing and debugging 

(C) dq’ky dksfMax esa  (C)  Efficient coding 

(D) mi;qZDr lHkh  (D)  All of the above 

68. fuEufyf[kr esa ls dkSu&lk lks’ky cqd ekfd±x 

lkbV ugha gS \ 

 
68. Which of the following is not a social 

book marking site ? 

(A) fMx  (A) Digg 

(B) fMyhf’k;l  (B)  Delicious 

(C) LDohMw  (C)  Sqido 

(D) Qslcqd  (D)  Facebook 

69. pSdesV lkW¶Vos;j iSdst dk iz;ksx fdlds fy,  

fd;k tkrk gS \ 

 
69. CHECKMATE software package is used 

for : 

(A) vf/kxzg.k  (A) Acquisition 

(B) lwpuk Hk.Mkj.k  (B)  Information storage 

(C) lkef;dh fu;a=.k  (C)  Serial control 

(D) ifjpkyu  (D)  Circulation 
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70. ,p- Vh- Vh- ih- dk vFkZ gS % 
 

70. HTTP stands for : 

(A) gkbij VsDLV VªkalQj izksVksdkWy  (A) Hyper Text Transfer Protocol 

(B) gkbij VsDLV Vªkalfe’ku izksVksdkWy  (B)  Hyper Text Transmission Protocol 

(C) gkbij VsDLV VfeZus’ku izksVksdkWy  (C)  Hyper Text Termination Protocol 

(D) gkbij VsDLV Vªkalfe’ku izksxzke  (D)  Hyper Text Transmission Program 

71. izdkf’kd rUrq irys /kkxksa ls feydj cus gksrs 

gSa % 

 
71. Optical fibers consist of thin strands of : 

(A) yksgs tSlh lkexzh ds  (A) Iron like material 

(B) dk¡p tSlh lkexzh ds  (B)  Glass like material 

(C) IykfLVd tSlh lkexzh ds  (C)  Plastic like material 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

72. dEI;wVj ok;jl % 
 

72. Computer virus can : 

(A) Lo;a dh izfrd`fr dj ldrk gSA  (A) Replicate itself 

(B) dEI;wVj dks gkfu igq¡pk ldrk gSA  (B)  Damage computer 

(C) MkVk dk izdyu dj ldrk gSA  (C)  Manipulate data 

(D) mi;qZDr lHkh  (D)  All of the above 

73. ysu dk iwjk uke D;k gS \ 
 

73. LAN means : 

(A) ykbczsjh ,fj;k usVodZ  (A) Library Area Network 

(B) yksdy ,fj;k usVodZ  (B)  Local Area Network 

(C) ykbczsjh vkWVkses’ku usVodZ  (C)  Library Automation Network 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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74. ;wfuDl D;k gS \ 
 

74. UNIX is a/an : 

(A) gkMZos;j  (A) Hardware 

(B) lkW¶Vos;j  (B)  Software 

(C) vkWijsfVax flLVe  (C)  Operating System 

(D) mPp Lrjh; Hkk”kk  (D)  High Level Language 

75. lwpuk izkS|ksfxdh ds izeq[k ?kVd dkSu&ls gSa \ 
 

75. The major components of information 

technology are : 

(A) dEI;wVj izkS|ksfxdh  (A) Computer Technology 

(B) lapkj izkS|ksfxdh  (B)  Communication Technology 

(C) izfrfyfidj.k ,oa lw{ehdj.k izkS|ksfxdh  (C)  Reprographic and Micrographic 

Technology 

(D) mi;qZDr lHkh  (D)  All of the above 

76. jSe dk vFkZ gS % 
 

76. RAM means : 

(A) jksM ,oa e’khu  (A) Road and Machine 

(B) jhM ,oa eseksjh  (B)  Read and Memory 

(C) jSaMe ,Dlsl eseksjh  (C)  Random Access Memory 

(D) jsV ?kks”k.kk fof/k  (D)  Rate Announcement Method 

77. ik¡poha ih<+h ds dEI;wVj dh fo’ks”krk gS % 
 

77. The fifth generation of computers is 

characterised by : 

(A) oh- ,y- ,l- vkbZ-  (A) VLSI 

(B) ,dhd`r lfdZV  (B)  Integrated Circuits 

(C) ds- vkbZ- ih- ,l-  (C)  KIPS 

(D) ,y- ,l- vkbZ-  (D)  LSI 
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78. ekbØksfpi dk vkfo”dkj fdlus fd;k \ 
 

78. Who invented Microchip ? 

(A) baVsy  (A) Intel 

(B) vkbZ- ch- ,e-  (B)  IBM 

(C) ch- ,- vkj- lh-  (C)  BARC 

(D) eSfdUVks’k  (D)  Macintosh 

79. oSD;we V~;wc rduhd dgk¡ mi;ksx dh tkrh  

gS \ 

 
79. Where is vacuum tube technology  used ? 

(A) dEI;wVj dh izFke ih<+h  (A) First generation of computers 

(B) dEI;wVj dh f}rh; ih<+h  (B)  Second generation of computers 

(C) dEI;wVj dh f}rh; ,oa r`rh; ih<+h  (C)  Second and third generation of 

computers 

(D) dEI;wVj dh ik¡poha ih<+h  (D)  Fifth generation of computers 

80. ,d ckbV ,d fLVªax gS % 
 

80. A byte is a string of : 

(A) 4 fcV~l dh  (A) 4 bits 

(B) 6 fcV~l dh  (B)  6 bits 

(C) 8 fcV~l dh  (C)  8 bits 

(D) 24 fcV~l dh  (D)  24 bits 
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81. fpi rduhd dk iz;ksx fdl izdkj ds 

dEI;wVj esa fd;k tkrk gS \ 

 
81. Chip technology is used in which type of 

computers ? 

(A) esuÝse dEI;wVj  (A) Mainframes computers 

(B) lqij dEI;wVj  (B)  Super computers 

(C) ekbØks dEI;wVj  (C)  Micro computers 

(D) feuh dEI;wVj  (D)  Mini computers 

82. fdlus igyk bysDVªkWfud dEI;wVj fMtkbu 

fd;k Fkk ftls ,- ch- lh- dgk tkrk gS \ 

 
82. Who designed the first electronic 

computer called ABC ? 

(A) okWu U;weSu  (A) Von Neumann 

(B) ts- ih- ,dVZ  (B)  J. P. Eckert 

(C) gkWoMZ ,dsu  (C)  Howard Aiken 

(D) tkWu foalsV ,VkulkWQ vkSj fDyQksMZ csjh  (D)  John Vincent Atansoff and Clifford 

Berry 

83. vkbZ- ch- ,e- dk eryc gS % 
 

83. IBM stands for : 

(A) Hkkjrh; [kku C;wjks  (A) Indian Bureau of Mines 

(B) Hkkjrh; foi.ku C;wjks  (B)  Indian Bureau of Marketing 

(C) vUrjkZ”Vªh; O;kikj e’khu fuxe  (C)  International Business Machine 

Corporation 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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84. ch- vkbZ- Vh- dk eryc gS % 
 

84. BIT stands for : 

(A) fczfV’k baLVhV~;wV vkWQ VsDuksykWth  (A) British Institute of Technology 

(B) ckbujh vad  (B)  Binary Digit 

(C) ckaXykns’k izkS|ksfxdh laLFkku  (C)  Bangladesh Institute of Technology 

(D) dEI;wVj eseksjh dh ,d bdkbZ  (D)  A unit of computer memory 

85. dEI;wVj gSa % 
 

85. Computers are : 

(A) eYVh&LVsV fMokbl  (A) Multistate devices 

(B) nks LVsV fMokbl  (B)  Two-state devices 

(C) ,dy LVsV fMokbl  (C)  Single-state devices 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

86. ge dEI;wVj ds lkFk lapkj dj ldrs gSa % 
 

86. We can communicate with a computer in 

a : 

(A) izkd`frd Hkk”kk esa  (A) Natural language 

(B) ladsrksa dh Hkk”kk esa  (B)  Language of signals 

(C) e’khu ¼ckbujh½ Hkk”kk esa  (C)  Machine (binary) language 

(D) fdlh Hkh Hkk”kk esa  (D)  Any language 

87. lh- ih- ;w- dk eryc gS % 
 

87. CPU stands for : 

(A) lsUVªy [kjhn ;wfuV  (A) Central Purchase Unit 

(B) lsUVªy izkslsflax ;wfuV  (B)  Central Processing Unit 

(C) lsUVªy laj{k.k ;wfuV  (C)  Central Protection Unit 

(D) djhdqye izksMD’ku ;wfuV  (D)  Curriculum Production Unit 
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88. ,p- lh- ,y- ,d gS % 
 

88. HCL is a : 

(A) e’khu  (A) Machine 

(B) vk/kqfud iqLrdky;  (B)  Modern Library 

(C) lkW¶Vos;j  (C)  Software 

(D) dEI;wVj fuekZ.k dEiuh  (D)  Computer manufacturing company 

89. ekbØks lh- Mh- ,l-@vkbZ- ,l- vkbZ- ,l-  

fy[kk tkrk gS % 

 
89. Micro CDS/ISIS is written in : 

(A) lh Hkk”kk esa  (A) C language 

(B) ikLdy esa  (B)  PASCAL 

(C) dkscksy esa  (C)  COBOL 

(D) ih- ,y-@1 esa  (D)  PL/1 

90. ekbØks lh- Mh- ,l-@vkbZ- ,l- vkbZ- ,l- gS % 
 

90. Micro CDS/ISIS is a : 

(A) dekaM lapkfyr iSdst  (A) Command driven package 

(B) esuw lapkfyr iSdst  (B)  Menu driven package 

(C) lsYQ&baLVªD’kuy iSdst  (C)  Self-instructional package 

(D) fjVªhoy flLVe  (D)  Retrieval system 

91. dkSu&lh dEI;wVj dh igyh ih<+h Fkh \ 
 

91. Which was the first generation of 

computer ? 

(A) ekbØks dEI;wVj  (A) Micro Computer 

(B) ;w- ,u- vkbZ- ,- lh-  (B)  UNIAC 

(C) ;w- ,u- vkbZ- oh- ,- lh-&1  (C)  UNIVAC-1 

(D) lqij dEI;wVj  (D)  Super Computer 
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92. igyh Lopkfyr x.kuk e’khu fdlds }kjk 

fodflr dh xbZ Fkh \ 

 
92. The first automatic calculation machine 

was developed by : 

(A) ,l- vkj- jaxukFku  (A) S. R. Ranganathan 

(B) dksydkrk fo’ofo|ky;  (B)  Kolkata University 

(C) ikLdy  (C)  Pascal 

(D) vcsdl  (D)  Abacus 

93. fuEufyf[kr esa ls dkSu&lh dEiuh dk opqZvy 

gkMZ fMLd (.vhd) QkWjesV gS ,oa opqZvy ih- 

lh- esa iz;ksx esa yk;k tkrk gS \ 

 
93. Which of the following company 

owns/uses the Virtual Hard Disk (.vhd) 

format for virtual PC ? 

(A) vkbZ- ch- ,e-  (A) IBM 

(B) buVsy  (B) Intel 

(C) xwxy  (C) Google 

(D) ekbØkslkW¶V  (D) Microsoft 

94. ekbØks dEI;wVj dk ân; D;k gS] ftlesa 

vadxf.krh; rdZ bdkbZ gksrh gS \ 

 
94. What is the heart of micro computer, 

which contains an arithmetic logic unit ? 

(A) lh- ih- ;w-  (A) CPU 

(B) ,- ,y- ;w-  (B)  ALU 

(C) ekbØksizkslslj  (C)  Microprocessor 

(D) jSe  (D)  RAM 
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95. fuEufyf[kr esa ls dkSu izdk’ku dk 

bysDVªkWfud ek/;e cu jgk gS \ 

 
95. Which of the following is becoming an 

electronic publishing medium ? 

(A) lh- Mh- jkse  (A) CD-ROM 

(B) ekdZ  (B)  MARC 

(C) ystj fizaVj  (C)  Laser Printer 

(D) dEI;wVj  (D)  Computer 

96. lkW¶Vos;j ifjHkkf”kr fd;k tk ldrk gS % 
 

96. Software may be defined as : 

(A) MsVkcsl ds lsV ds :i esa  (A) A set of databases 

(B) fyf[kr izksxzke ds lsV ds :i esa  (B)  A set of written programmes 

(C) iSdst ds lsV ds :i esa  (C)  A set of packages 

(D) dEI;wVj flLVe ds :i esa  (D)  A computer system 

97. dEI;wVj ds leku vo/kkj.kkvksa dks fu;ksftr 

djus okyh igyh e’khu Fkh % 

 
97. The first machine to employ concepts 

similar to a computer was : 

(A) vcsdl  (A) Abacus 

(B) fo’ys”k.kkRed batu  (B)  Analytical Engine 

(C) ekdZ&1  (C)  MARK-1 

(D) ;wfuoSd&1  (D)  UNIVAC-1 
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98. 
-------------------------

 izksxzkeksa dk ,d laxzg cukrk gSA 
 

98. .............. constitutes a collection of 

programes. 

(A) gkMZos;j  (A) Hardware 

(B) lkW¶Vos;j  (B)  Software 

(C) eseksjh  (C)  Memory 

(D) vkWijsfVax flLVe  (D)  Operating System 

99. ^vkWijsfVax flLVe* esa fuEufyf[kr nks izdkj ds 

izksxzke gksrs gSa % 

 
99. The „Operating System‟ consists of the 

following two types of programmes : 

(A) lzksr izksxzke vkSj ladfyr izksxzke  (A) Source programes and compiled 

programmes 

(B) fu;a=.k dk;ZØe ,oa izlaLdj.k dk;ZØe  (B)  Control programes and processing 

programmes 

(C) b.VjQsl ,oa LVSaM vyksu izksxzke  (C)  Interface and stand alone 

programmes 

(D) nh?kZ izksxzke vkSj y?kq izksxzke  (D)  Long programmes and short 

programmes 

100. [kkst izksQkby esa ,d [kkst ‘kCn gks ldrk gS % 
 

100. A search term in a search profile can be : 

(A) o.kZudrkZ  (A) A descriptor 

(B) fFklkWjl dk dksbZ ‘kCn  (B)  Any word from a thesaurus 

(C) ys[kksa esa lUnHkZ  (C)  References in the articles 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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